8/2/2024 11:34:48.432 [RX] - ATE1<CR><LF>
OK<CR><LF>

AT+CFUN=0<CR><LF>

OK<CR><LF>

8/2/2024 11:34:48.608 [RX] - AT+CPSMS=0<CR><LF>
OK<CR><LF>

AT+CEDRXS=0<CR><LF>

OK<CR><LF>

8/2/2024 11:34:48.778 [RX] - AT+QNWCFG=0,1<CR><LF>
OK<CR><LF>

AT+QBAND=1,3<CR><LF>

OK<CR><LF>
AT+QCGDEFCONT="IP","iot4u.br","arqia","arqia"<CR><LF>
OK<CR><LF>

AT+CFGDUALMODE=1,0<CR><LF>

OK<CR><LF>

AT+CFGRATPRIO=2<CR><LF>

OK<CR><LF>

AT+CFUN=1<CR><LF>

OK<CR><LF>

AT+CGACT=2,1<CR><LF>

ERROR<CR><LF>

AT+CREG=2<CR><LF>

OK<CR><LF>

AT+QCCID<CR><LF>

+QCCID: 89551808000522594571<CR><LF>

<CR><LF>

OK<CR><LF>

8/2/2024 11:34:56.431 [RX] - <CR><LF>
+CREG: 1,"63BF","C789"<CR><LF>

8/2/2024 11:34:57.535 [RX] - AT+CSQ<CR><LF>
+CSQ: 28,99<CR><LF>

<CR><LF>

OK<CR><LF>

8/2/2024 11:35:01.696 [RX] - AT+CEREG?<CR><LF>
+CEREG: 0,0<CR><LF>
<CR><LF>

OK<CR><LF>
AT+CGREG?<CR><LF>
+CGREG: 0,1<CR><LF>
<CR><LF>

OK<CR><LF>
AT+QIACT=1<CR><LF>
ERROR<CR><LF>
AT+CGPADDR<CR><LF>
OK<CR><LF>
AT+CGACT=1,1<CR><LF>
ERROR<CR><LF>



